1

BB -

R B DR RERSRICOVT

HHRENEEE R FHREMFHIAE D BRI RIZ W T, BTRETO/N -
BIZBITAUTOREZTHELEOTEBHLE LET,

REEIZ T D S R ERNE
(1) B Bf: P26 6A 10 H~FK25F6 A 12 B
(2) %5 BT &B/h-HFER FI7F T—AHAR
(3) 77 & HBBIZXDEIE
(4) & HR:TREOLBY
MKEARIBOBEREEND 1 uSv/h #BAT-EFTEIH Y FHATLE,
T4 H7E G HIE = T 5 5
JEE N B ML S0em | 0.04uSv/h
R— #E1 m 0.04 1 Sv/h
R o [ mEs 0.03,5/h
TIAR w1 w | 0 viusvh
Ve N ﬂﬂ J:BOcm ________________ 0 04uSV/h ________
o #HE1 m 0.05u Sv/h
R P S - W Mol 50em | 0.03uSv/h
HE1m 0.03 uSv/h
B e #h | 50cm 0.04 1 Sv/h
" il Wr1o | 0.04usvh
PR . #h b 50em 0.03pSv/h
TIATAN e R 0.04uSv/h
e Hb F 50cm 0.02 1 Sv/h
) FREE - #lin | 0.05usuin
ARIFR H 1= 50em 0.04 p Sv/h
O S B T B
#HE1l m 0.03uSv/h
Sed < o B #h F 50cm 0.03 uSv/h
o 77e R Wil | 0.o3usvh
SR | e | 0.0ruSh
L bl m | 0.04 1 Sv/h
rsute | Mb50em | 0.05uSv/h
- HE1 m 0.054Sv/h
R u “ ik 50em 0.04 4 Sv/h
S T 0.03usvih
R #h F 50cm 0. 05 Sv/h
A A Wtia | 0.05usvh
St ia ‘- .k 50cm | 0.05uSv/h
i LI A 0.06 4 Sv/h
SO Hbks0em | 0.03uSv/h
dadi M1 m 0.03 1 Sv/h
I e 0.04usuh
PR A b HiE1 m 0.04 u Sv/h




A2V N il S0em ] 0.05u8v/h
s 1 0. 05 Sv/h
A AR - L
e e 1 b Wiksoem ] 0.05uSv/h
Hi b1 m 0.05 1 Sv/h
TS . HES0em | 0.03uSv/h
e sl M1 m 0.03 4 Sv/h
IR L
Ay V= Sl R R Wksoem | 0.03uSv/h
HE1 m 0.03 u Sv/h
St e Eksoem | 0.04uSv/h
N JEid HE1 m 0.04 u Sv/h
. N Lsoen [ 0.01pSu/h
HWE1l m 0.04 u Sv/h
. #i_E 50cm 0. 06 1 Sv/h
il N el o
- . ME1 m 0.06 1 Sv/h
EY R ket iy
S B Lt 00poys
k1l m 0.04 4 Sv/h
L Ht |- 50cm 0.03 1 Sv/h
i I L e B
" Ly s M1 0.04 1 Sv/h
SR B TR : . ok
7 *—JWJL/K }\ ....... j: H?j'_".lj_‘_?p_(zr_n ________________ Q '_.O_Z%H_sy_/_l:l ________
HE1m 0.03uSv/h
YA S s {ﬁ_l‘S()cm ________________ 0 06,uSv/h ________
. #hk1 0.05 1 Sv/h
SR = R et i
s il B s M bs0em 0.04pSv/h
el m 0.04pSv/h




